TH4403 A 128 (XER)

R RENFEHIS (A15) 2B B #H

B EEHBE: 1789 b+
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
130100 |[7ZLNC A # 10,715
EE 400 0 400 10 1,296 756
= 7,180 110 7,070 10 1,080 1,512 756
RiF 900 900 0 10 1,296 1,134
130340 [;£ICALA ¥ 9,920
Ri& 5,700 210 5,490 10 1,728 1,620 540
REAR 2,520 0 2,520 10 1,274 1,166
BRE 1,500 0 1,500 10 1,058
130400 15 % 2,490
H 2,400 0 2,400 10 - - - 2,160 1,566
130500 |f=[TDZ ¥ 18
BRE 10 0 10 Z - - - 6,804 5,184
130600 |[LA A % 1,240
mE 1,240 35 1,205 5 5. 184 4,152 5,724 1,080
131100 [ 3¢ ¥ 20,495
E351 11,025 0 11,025 15 1,080 540
£E 3,785 1,020 2,765 15 1,512 864 1,404 1,080
RI& 4,185 1,140 3,045 15 1,512 1. 296 2,268 1,620
131700 |Fv Y % 32,608
50 19,390 4,760 14,630 10 1,890 156 1,966 864
£E 11,718 3,792 7,926 12 972 648 1,296 540
FFrL 1,500 0 1,500 10 1,674 1,188
131800 |[[(F5hAE % 3,519
EE 672 520 152 0.2 91 22 80 59
32 600 16 584 4 2,592 2,808 1,296
=i 2,070 0 2,070 45 2,700 2,430
131910 [FH=F % 2,864
N 23 0 23[ 0.045 63 62
£E 103 4 99| 05 302 302 270
i L 495 0 495 1 1,296 432
E 1,213 15 1,198 5 Z, 700 3,240 1,080
iR 995 0 995 10 2,916 2,700
= 10 0 10 1 540
131950 |B & a3 4,694
S 2,495 296 2199] 3 1, 404 864 1,404 432
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TH4403 A 128 (XER)

~

R RENFEHIS (A15) 2B B #H

Frx ENFERHME 1789 kv
(gL HEREFST)
fnfh &h EEh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)

BR 15 0 15 3 756

BE 30 0 30 3 864 648
133400 |LAR ¥ 13,330

B35 180 0 180 45 1,404

EE 9,360 7,080 2,280 10 Z, 808 1. 404 2916 1,404

®me 2,300 880 1,420 10 2,700 1,404 3,024 1,728

G 1,490 700 790 10 1,404 1,296 2,700 1,404
134100 [#A)1 3 14,035

EE 3,850 540 3,310 5 1,674 1,458 2,052 1,134

iR 145 0 145 5 1,620 1,296

= 1,350 1,350 0 5 1,944 1,458

=] 7,095 3,260 3,835 5 1,728 1, 285 2,106 1,242
134200 |F I ¥ 2,700

—1—U-5UK 2,700 0 2,700 10 - - - 1,458 1,296
134300 | %t F % 5,443

®me 750 90 660 2 1,188 1,080 1,188 540

=40 3,448 1,200 2248 0.3 130 124 130 113

= 1,095 227 869 03 162 151 162 146
134400 |F<+ % 7,406

EE 1418 48 1,370 4 1,404 1,296 3,564 648

& 3,091 0 3,091 4 1,404 1,080

BE 2,834 444 2,390 [ 1,512 1. 080 1,728 648
134500 [E—< > ¥ 5,433

=il 630 90 540 0.15 97 113 81

=) 4,758 2,554 2,204 0.13 107 86 86 77
135100 [LNAVIF A 3 342

=40 32 10 22 2 3. 456 4536 3,240

BRE 10 0 10 2 4104
135200 | 3= % 120

EEIT 120 4 116 2 Z.916 3,186 1,296
135300 [E—X % 448

FIEIT 180 50 130 2 Z 333 1,080 2,592 1,080

BR 120 0 120 1 1,728 864
136100 [MAL & 3 9,760

FE 150 0 150 5 2,052
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TH4403 A 128 (XER)

R RENFEHIS (A15) 2B B #H

Frx EISEHAE: 1789 b+
(ERISHERESD)
fnfh &h EEHh ENFE = (ke) F oy b tExIER 5|
AH 2Y5E Ext Hfike) | 2EEA) | ®EEA) | REM) | SEME) | $EME) | REME)
mS 5,085 60 5,025 5 Z, 160 1,944 2,711 918
=il 20 20 of o5 162
N2 3,600 0 3,600 5 1,944 1,188
136200 [ E#5ZE 3 17,620
dtiEE 1,000 0 1,000 10 1,836
BRE 16,620 0 16,620 10 - - - 3,240 1,512
136210 | A—9 1> % 3,150
dtiEE 2,500 1,000 1,500 10 Z.376 1,382
BR 650 0 650 10 3,564
136300 B ¥ a3 2,210
IR 2,110 0 2,110 10 - - - 3,564 1,620
BE 100 0 100 10 1,728
136600 |f=F1a= % 820
dtiEE 30 0 30 10 4,968
EE 390 390 0 10 3,780 3. 564
KE 400 0 400 10 3,888
138100 | LLM=1F % 3,536
EE 165 35 130 0.1 140 97 97 76
mE 2,622 5 26171 0.1 119 184 53
138500 [LHLE “ 3,959
EH 3,955 509 3.446] 0.18 58 62 57
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TH4403 A 128 (XER)

R RENFEHIS (A15) 2B B #H

= ENFERHME 28.2
(gL HEREFST)
fnfh fnfh EEh ENFE = (ke) F oy b tExIER 5|
AH Y5 axt Hfike) | 2EEA) | ®EEAE) | REM) | SEME) | £EME) | REME)
240700 | @R M A A # 1,903
= 1,903 650 1,253 10 4,320 1. 728 3,780 1,620
241300 [{FF ¥ 3,110
BE 3,110 3,110 0 10 2. 484 1. 728
241320 | /\¥H ¥ 6,736
FIEIT 1,000 1,000 0 10 1,620
IN= 5,736 3,076 2,660 10 1,782 540 3,780 1,620
241450 |;BR 3 470
Faxl 470 470 0 10 3. 240 Z, 862
241481 [T aky 3 4,639
A 1,080 0 1,080 10 3,564 2,376
E| 3,234 2,146 1,088 5 1,944 1,080 2,484 1,404
246000 (V6T ¥ 10,894
EE 446 5 441 025 670 1,080 194
F 690 287 403] 03 551 389 551 497
=i 1,835 626 1,210  0.27 497 248 540 216
kB 720 655 65 0.24 346 302 346 324
KI5 2,830 362 2,468 025 335 270 432 194
REAR 3,863 1,264 2,599 0.25 346 238 378 238
= 5 510 24 486 0.3 432 432
247100 [7—JLA A ¥ 391
] 289 170 119] 8.5 16, 200 10, 800 14,580 10,800
= 102 60 43 8.5 5,940 4,860 10,800 4,860
248300 [ g LvA 3 10
=50 10 10 0 10 9,720




